Erdgeschoss

[0.36

Carport_1
F=26.25m?

Stellplatz

X
7.50

3.00

- .| .3 . o - . - . B
STTE F12

2B

zu |1/2 angerechne

Wohnen /Kochen /Essen
36.66gm

i
]

]

Stellplatz

Grundstick 4

0
«©©
Q
[Te]
e
N
N
w0
S
4}_
2
® (&
[ s
A)r
E]
[Te) ~—
~ -~
8
=] | I v
o
©
I
|
) =
S
'y
e
[se
N
.
N
M
%*%
e N o] —
P B

]

\o‘

5

00

Abst.
HH OK76,50m_i.NHN 2.80gm
Qo
00
—3
WC 3
2.31gm
F
Arbeiten B.10gm HA., Technik
6.88qm 3.69gm
W/T 0.15
WHG_1
F=1140.51

3.00

| G
I F=12.50 \m i |
zu 1/2) angerechnet
- ; _
[ T r“i
.15 |
|
|
Carport_2
_ 2
Wohnen /Kochen /Essen F=27.00m
36.66gm
D D Stellpatz
0 Ol .
\— ~
2 gg?tm 0K76,50m {i.NHN ‘ ‘ ‘ ‘ ‘
s v A (] 3.00
00O
0o
—
8 WC
B .31
2.31qm e A o
g,‘,%r Stellplatz
HA., Technik Arbeiten
3.69gm 6.88qm ‘
|
2w/t \ _
. - —_
AN =
HG_2 LT
0140 Sim& - \ o
o (it Terrasse) %

) O’ﬁ) w.3850’]f 1.40 Dﬁ“l 140 || 1385 uw 0.36 |
T 1 m Tt 1 11
12449 WL

-8

7.23

0.173
i

3.865

93,
E

11.99




